CamocriiiHa po0ora
Bapianr 1

1.3Bectr mo110H1 T0/TaHKHU:
1) 9a + 3a

2) 7x + 3y — 4x + 5y
2.PO3KpUiiTEe TyKKU:
1)2(3x + 5¢c — a)
2)—0,5(2a+ 0,4y — 7,6x)

3.3HaiAITh 3HaYEHHS BUPA3y

3t—2y+ 7t + 5y, akmo t =1—10, y=5

4.Po3B’sIKITh PIBHSHHS:
2x+0,4x + 1,6x =12

CamocriitHa podoTa
BapianT 2

1.3BecTu 1OA10H1 JOOAHKH:

1) 6b + 5b

2) 12k — 3t + 4k + 8t
2.Po3KkpuiiTe Ty>KKU:

1)3(2x + y — 3a)

2)—0,5(6a + 4y + 3.6¢)

3.3Hal1ITh 3HAYCHHS BUPa3y

6m + 12n — 5m — 4n, axmo n = %, y=7

4.P03B’S1KITh PIBHSIHHA:

—0.2y + 5y + 1.2y = 18



